Assessment
	Criterion
	A
	B
	C
	D
	E
	Total

	Marks available
	3
	6
	6
	5
	5
	25

	Marks awarded
	3
	4
	4
	3
	4
	18


Criterion A
The candidate deals with elements of philosophical, historical and cultural context. There is a clear enough attempt to link the content of the interactive oral with the personal development of the candidate’s understanding. Although some of the points are speculative and not convincingly developed, there is enough here to justify the mark awarded.
Criterion B
This topic is one that is fairly frequently chosen by candidates, but what distinguishes the approach here is an openness to the possibilities of interpretation, allowing the candidate to demonstrate some valid insight into the content of the novel. The candidate is able to connect the focused topic with the wider concerns of the character Meursault and the writer Camus. The claims are adequately substantiated by the examples used, although not all points are equally convincing.
Criterion C
There is a clear appreciation of the writer at work here. The candidate covers an appropriate range of literary techniques that support the ideas being explored in a meaningful way. There are times when the analysis fails to convince as the candidate appears to forget that this novel is being studied in translation. This analysis, however, is sound enough to justify the mark awarded.
Criterion D
Although the thesis is clearly set out in the introduction, the main body paragraphs are somewhat disconnected. Individual paragraphs work well enough as independent units, but what is missing here is an effective sequential development of argument. Had this been the first draft the teacher might usefully have commented on this and the assignment could have been reorganized, with more coherent transitions, and this would have resulted in an improved performance in relation to this criterion.
Criterion E
There are minor mechanical weaknesses and, occasionally, incorrect or awkward stylistic choices, but overall the language is clear and carefully chosen. The register is almost always appropriate.

